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Crossword with IBB

SHAPESHIFTER

SUDOKU

LONDON WORD SEARCH

To solve a Sudoku puzzle, every number from 1 to 9 must appear in: Each of the nine vertical columns; Each 
of the nine horizontal rows; Each of the nine 3 x 3 blocks. Remember no number can occur more than once 
in any row, column or 3x3 block.

Find all the words listed hidden in the grid of letters. They can be found in straight lines up, down, 
forwards, backwards or even diagonally. The leftover letters will reveal the mystery answer.

CANARY WHARF, CHELSEA, CITY, COVENT GARDEN, EAST END, FULHAM, HEATHROW, KENS-
INGTON, KNIGHTSBRIDGE, LORD'S, PADDINGTON, RED BUS, RIVER THAMES, ROYAL BALLET, 
SELFRIDGES, SLOANE SQUARE, SOHO, SOUTHWARK, TUBE, WEMBLEY

ENTERTAINMENT ENTERTAINMENT
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To solve these warped Sudoku puzzles, 
every number from 1 to 9 must appear in:
- Each of the nine vertical columns
- Each of the nine horizontal rows
- Each of the nine different coloured shapes
Remember no number can occur more than 
once in any row, column or colour.


